Brief Progress on the Current Ongoing Experiment
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Raw Spectra Obtained from Detectors
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D2 Spectrum
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D3 Spectrum
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D4 Spectrum
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Time Difference Spectrum by D1nD?2
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Time Difference Spectrum by D2nD4

¥ 2
- B ht2
E — Entries 3349
a1 — Mean 2300
S RMS 1028
S10° x*{ ndf 16.48 /20
Z - Constant —0.6131 + 0.3050
g _ || Slope 0.002585 + 0.000199
& |
@ L

10

ol

|

il

4000 -3000 2000 -1000

0

1000

2000 3000 4000
Counts

1/Slope = 386.85 channels

= 9.67 ns

4/17/2017

™

14




@

Time Difference Spectrum by D2nD4 with
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